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One day Rabeya climbed up a hill to enjoy the
sight of the beauties of nature. At that time many
beasts and birds came flocking there from all sides
and stood surrounding her like her closest friends.
But as soon as the famous Saint Haran said, Rabeya
how fearlessly they stood round you, but no
sooner did I make my appearance than they ran
away! Oh what did you make your meal today?
Asked Rabeya of bread and meat, replied he.
Rabeya said, How funny indeed! To think that you
will feed on their flesh while they will come up to
you with a feeling of security! Is that possible?
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WBCS MAINS EXAM. - 2023 MEGA PRACTICE SERIES
Mock Test-6 (Paper-11)

Trandate the following passage into English: @[@Tﬁﬁ
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Make a precis of the following passage: W

‘Show me a man’s companion’, says the proverb, ‘and I will tell you what the man is’; and this is, and must be
true, because all men seek the society of those who think and act somewhat like themselves. Sober men will not
associate with drunkards. Frugal men will not like spendthrifts, and the orderly and decent shun the noise and
thedisorderly. It isfor thevulger to herd together, but thereisaclassrather higher whichis still more blamable.
| mean the gay companionswho cometogether to dolittle but talk, and talk without any purpose. The conversation
among such persons has nothing of instruction in it, and is generally of a vicious tendency. Young people
naturally seek the society of those of their own age; but be careful in choosing your companions; and lay this
down asarule never to be departed from, that no youth, nor man, ought to be called your friend, who is addicted
to indecent talk or who isfound of low society. W

Write a |etter to the editor of an English daily on the necessity of sustainable development.

Write a newspaper report on atrain accident. W

Write a composition on Indiain the twenty first century.
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Dharwad Plateau is located in—

(a) Andhra Pradesh (b) Karnataka

(c) Tamil Nadu (d) Telengana

Which one of the following place located in the
windward slope?

(a) Mawsynram (b) Shillong W
(c) Dehradun (d) Amritsar

With the opening of which metro did the Indian
Railways enter the Metro age?

(a) Kolkata Metro (b) Delhi Metro

(c) Chennai Metro (d) Mumbai Metro
Blind valley found in—

(a) Glacial Topography  (b) Karst Topography
(c) Marine Topography (d) None of the above

The sum of total potentially knowable object is
called—

(a) Galaxy (b) Milky way

(¢) Universe (d) Black Hole

The instrument used for enlarging or reducing a
map is called—
(a) Planimeter

(¢) Rotameter

(b) Pantograph

(d) Ammeter

Which among the following major Indian cities is

most eastward located?

(a) Bengaluru (b) Lucknow

(c) Patna (d) Bhopal

Consider the following pairs :
Tributary Main River

froRd

1. Alakananda Ganga
2. Wainganga Godavari
3. Hasleo Brahmaputra

Which of the following pair(s) given above is/are
correctly matched?

(@)1,2,3 (b) 2 and 3 only

(c) 1 and 2 only (d) 3 only

When you travel in Himalayas, you will see the
following :

1. Deep gorges

2. U-turn river courses

3. Parallel mountain ranges

4. Steep gradients causing land sliding

Which of the above can be said to be the evidence
for Himalayas being young fold mountains?

(a) 1 and 2 only (b) 1,2, 3 only

10.

11

12.

13.

14.

15.

16.

17.

(¢) 2 and 3 only (d)1,2,3and4

Which of the following sequence of physical

features is correct?

(a) Plain, Tarai, Bhabar and Mountain

(b) Tarai, Bhabar, Plain and Mountain

(¢) Bhabar, Tarai, Plain and Mountain

(d) Mountain, Bhabar, Plain and Tarai

Which of the following indicators is not concerned

with Human Development Index (HDI)?

(a) Life expectancy at birth

(b) Mean years of Schooling W

(¢) Gross national income per capita

(d) Development of country's agriculture sector

The tropical cyclones are measured with the help

of :

(a) Scismic Scale (b) Richter Scale

(c) Mercalli Scale (d) Saffir Simpson Scale

In India, maximum amount of rain fall is received

from—

(a) Retreating Monsoon (b) Western Distributaries

(¢) South-West Monsoon (d) North-East Monsoon

The agricultural production in different parts of

India is very much affected by varying intensity of

floods and droughts. Which one of the following

measures would not be sustainable in this respect?

(a) Change in crop calendar.

(b) Avoidance of flood and drought prone areas
for agriculture.

(c) Provision for extensive irrigation facilities.

(d) Emphasis on selection of crops best suited to
flood and drought condition.

Coromondol Coast is under which Earthquake
Zone?

(@Il (b) I (c)II @rv
The Himalayas as a region have always susceptible

to disaster because—
ayfsert

(b) Completion of mountain building process.

(a) Highness of mountain.

(c) The neo-tectonic mountain building is under
process.

(d) Human Interference increases.

Which state has the maximum teak forest India?

(a) Bihar (b) Jharkhand

(¢) Uttar Pradesh (d) Madhya Pradesh
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18.  The full form of the abbreviation NLM is (a) Mumbai (b) Delhi
(a) Northern Limit of Monsoon (c) Kolkata (d) Chennai
(b) Northern Line of Monsoon 30. Which is the only large level strip of land the
(¢) Normal Line of Monsoon W Himalayas?
(d) Normal Limit of Monsoon (a) Kashmir Valley (b) Dun
19.  Varanasiis an exampleof ____city. (c) Sind Valley (d) Betaab Valley
(a) Eclecelestial (b) Religious 31.  Extension of the International boundaries of India
(c) Administrative (d) Port along with their neighbouring countries in
20.  According to the Census of India, 2011 the sex ratio ascenc.ling ordf:r are: apfeeid
of West Bengal is— (a) China, Pakistan, Nepal, Bangladesh
(a) 942 (b) 981 (c) 947 (d)919 (b) Nepal, Pakistan, China, Bangladesh
21.  Thedaily weather map of India is prepared and print (c) Nepal, Pakistan, Bangladesh, China
at (d) Pakistan, China, Nepal, Bangladesh
(a) Pune (b) Mumbai 32.  Which one of the following straits is nearest to the
(¢) Chennai (d) Kolkata International Date Line?
22, Which of the following crop enriches the Nitrogen (a) Bering Strait (b) Malacca Strait
Content of the Soil? (c) Gibraltar Strait (d) Florida Strait
(a) Pea (b) Rice 33.  Theriver Yamuna originates from :
(c) Wheat (d) Sunflower (a) Bandarpunch (b) Amarkantak
23.  Under which climatic conditions do the laterite soils (c) Maikal Range (d) Sahyadri
develop? 34. India's largest Ship Breaking Yard is located in
(a) Hot and dry climate Gujaratat :
(b) Cold temperature climate (a)Alang (b) Kandla
(c) Mediterranean type of climate (c) Okha (d) Porbandar
(d) Wet tropical climate 35.  Zerodegree latitude and zero degree longitude lies
24.  The principal cause of soil damage in Punjab and in the
Haryana is— (a) Atlantic Ocean (b) Indian Ocean
(a) Soil erosion (c) Pacific Ocean (d) Arctic Ocean
(b) Salinity and Water logging 36. Consider the following statements. Identify the right
(c) Excessive heat (d) Deforestation ones.
25. According to census 2011, which union territory L. The Northern Plains are in the form of a fore
has highest decadal population growth rate between deep.
2001-11? II. Faulting is one of the significant reasons in the
(a) Delhi (b) Lakshadweep formation of the Penisular plateue.
(¢) Dadra and Nagar Haveli (a) Lonly (b) IT only
(d) None of the above (c) Both (d) None of these
26. Towards where does the eastward slope of the 37.  Which of the following is the first research project
Punjab-Haryana Plains go programme that focused on the EI Nino Southern
(a) Chenab (b) Indus Oscillation and its predictability?
(¢) Jhelum (d) Beas W (a) Climate Variability and Predictability
27. Which is the land of sacred Kailas? (b) Global Energy and Water Cycle-Experiment
(a) Meghalaya (b) Uttarakhand (¢) Global Change and Terrestrial Ecosystem
() Tibet (d) Arunachal Pradesh (d) Tropical Ocean and Global Atmosphere
28, What s the local name of the wind blowing in the 38.  Which ofthe.following is not one of the Era of the
northern plains during summer? Earth geological structure? Ayfrers
(a) Trade Winds (b) Kaal Baisakhi (a) Cambrian (b) Mesozoic
(c) Loo (d) None of the above (c) Paleozoic (d) Non-living Era
29.  Among the following cities which one is nearestto | >0 According to the 2011 census, what is the

the Tropic of Cancer?

percentage of India's rural population?
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41.

42.

43.

45.

47.

48.

49.

50.

(2) 25.36% (b) 68.26%
(c)31.16% (d) 60.20%
Which of the following is responsible for the

layering structure of the Earth?
(a) Solar Storms s oRs

(b) Process of Differentiation

(c) Wind (d) Weather
‘Khetri’ is famous for—

(a) Coal (b) Iron Ore

(¢) Copper (d) Manganese

Select the correct order of the hill station on the
basis of heights.

(a) Darjeeling, Leh, Simla, Srinagar

(b) Srinagar, Darjeeling, Simla, Leh

(c) Srinagar, Leh, Simla, Darjeeling

(d) Darjeeling, Simla, Leh, Srinagar

Which of the following state is famous for the
tropical forest of Silent Valley?

(a) Kerala (b) Tamil Nadu

(c) Andhra Pradesh (d) Maharashtra

Which of the following reason of rainfall during
winters in north-western part of India?

(a) Western disturbances (b) Cyclonic depression
(¢) Southwest Monsoon (d) Retreating Monsoon
Which of the following Soil is characterised by the
Cracks and Shrinks when it dried?

(a) Sandy Soil (b) Black Clay Soil

(c) Alluvial Soil (d) Red Soil

Where is the Baglihar Hydro-power project located?
(a) Beas (b) Chenab

(c)Ravi (d) Sutlej

Which is India's largest port by size and shipping
traffic?

(a) Kandla Port
(¢) Mumbai Port
Which among the following is located in Andaman

(Port Blair)? 6 ﬁ\ny 'PX

(a) Veer Savarkar International Airport

(b) Kochi Port
(d) Marmagaon Port

(b) Biju Patnaik International Airport

(¢) GuruRamdas International Airport

(d) Lokpriya Gopinath Bordoloi International
Airport

Which is the largest Union Territory?

(a) Ladakh (b) Lakshadweep
(c) Delhi (d) Puducherry
First Rock Garden is located at :

(a) Surat (b) Chandigarh
(c) Ahmedabad (d) Amritsar

51

52.

53.

54.

5.

56.

57.

8.

59.

60.

61.

62

Which one of the following places is famous for
pre-historic paintings?

(a) Ajanta (b) Bhimbetka

(c) Bagh (d) Amravati

A ploughed field was discovered at

(a) Mohenjodaro (b) Kalibangan

(c) Harappa (d) Lothal

The excavation at Chanhudaro was directed by
(a)J. H. Mackay (b) Sir John Marshall
(c) R.E.M. Wheeler (d) Sir Aurel Stein

Dadheri is a late Harappan site of

(a) Jammu (b) Punjab W
(c) Haryana (dU.P

Which one of the following is not correctly
matched?

(a) Harappa - Daya ram Sahni

(b) Lothal - S.R. Rao

(¢) Surkotada - J.P.Joshi

(d) Dholavira - B.K. Thapar

Recently, from excavations of Harappan site Sonauli
what was found?

(a) Human burials (b) Animal burials

(a) Residential building  (d) Protecting wall

A horned deity engraved on a terracotta cake has
been recovered from

(a) Banawali (b) Kalibangan

(¢) Lothal (d) Surkotada
Shortugai is located in which country?

(a) Bharat (b) Pakistan

(c) Tibet (d) Afghanistan
“Trayi’ is a name for

(a) Three Vedas

(b) Dharma, Sangha and Buddha

(¢) Three Gods in Hindu Pantheon

(d) Three seasons

The ‘Purush Sukta’ related to Varna System is
originally found in

(a) Atharvaveda (b) Samaveda

(c) Rig Veda (d) Manusmriti

Which Mandala of Rig Veda is completely
dedicated to ‘Soma’?

(a) Seventh Mandala (b) Eight Mandala

(c) Ninth Mandala (d) Tenth Mandala
The famous dialogue between Nachiketa and Yama
is mentioned in the

(a) Brihadadranyaka Upanishad
(b) Chhandogyopanishad

(¢) Kathopanishad

(d) Kenopanishad

froRd
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63. Vedic river Askini is identified with which one of (c) Pali Research Centre
the following rivers? (d) Museum W
(a) Beas (b) Ravi W 76. Heliodorus of ‘Besanagar inscription’ was a
(¢) Chenab (d) Jhelum resident of
64. During the Rig Vedic period Nishka was an (a) Pushkalavati (b) Takshila (Taxila)
ornament of (c) Sakala (d) Mathura
(a) Ear (b) Neck (c) Arm (d) Wrist | 77.  Among the following who is given the credit of
65. Famous Battle of ‘Ten Kings’ was fought on the carrying Jainism South India?
bank of the river (a) Sudharmana (b) Indrabhuti
(a) The Ganges (b) Brahmaputra (c) Bhadrabahu (d) Sthulabhadra
(c) Kaveri (d) Parushni 78. Matsya Mahajanapada of 6th century B. C. was
66. The number of Puranas is located on
(a) 16 (b) 18 (c) 19 (d)21 (a) Western Uttar Pradesh (b) Rajasthan
67. Aghanya in Rig Veda is mentioned for (c) Bundelkhand (d) Rohilkhand
(a) Goat (b) Cow 79. Which one of the following pair is correctly
(c) Elephant (d) Horse matched?
68.  Who was the first European to designate Aryan (a) Parsvanath - Janatrika
as a race? (b) Bindusara - Shakya
(a) William Jones (b) HH Wilson (c) Skandagupta - Maurya
(c) Max Muller (d) General Cunningham (d) Chetak - Lichchhavi
69. Prabhasgiri is a pilgrim spot of 80. Which Buddha text has described 16
(a) Buddhist (b) Jains Mahajanapadas of 6th century B.C.?
(c) Saivites (d) Vaishnavites (a) Digha-Nikaya (b) Tripitaka
70. The first disciple of Lord Mahavir was (c) Deepavansh (d) Anguattar Nikaya
(a) Jamali (b) Yashoda 81. During the period of 16 Mahajanapadas, Mathura
(c) Bipin (d) Prabhash was the capital of
71.  Which one of the following inscriptions of Ashoka (a) Vajji (b) Vatsa
confirms the tradition that Gautama Buddha was (c) Kashi (d) Surasena
born in Lumbini? 82.  Which initial ruler of Magadha killed his father for
(a) Basarh Pillar Inscription W enthroning and also was killed by his son for the
(b) Nigali Sagar Pillar Inscription same reason?
(c) Rampurwa Pillar Inscription (a) Bimbisara (b) Ajatashatru
(d) Rummindei Pillar Inscription (¢) Udayin (d) Nagdashak
72.  Who was Alara Kalama? 83.  Which inscription is the evidence of king Nand?
(a) A disciple of Buddha (a) Hathigumpha inscription of Kharvel
(b) A distinguished Buddhist monk (b) Rummindei pillar inscription
(c) A king of Buddha’s time (c) Junagarh inscription of Rudradamana
(d) A teacher of Buddha (d) Ayodhya inscription of Dhandeva
73.  The entry of women as a ‘Bhikshuni’ into the | & Chandragupta’s palace situated at Pataliputra is
Buddhist Sangha was a allowed by Gautam mainly made up of
Buddha at (a) Bricks (b) Stones
(a) Shravasti (b) Vaishali (c) Woods (d) Clays
(c) Rajgriha (d) Kushinagar 85. That Gujarat was included in the Kingdom of
74. Ashokaram monastery was situated at Chandragupta Maurya is proved by
(a) Vaishali (b) Pataliputra (a) Greek accounts
(¢) Kaushambi (d) Shravasti (b) Junagarh Rock Inscription of Rudradaman
75 ‘Nav Nalanda Mahavihar’ is famous for (c) Jain tradition

(a) Hsuan-Tsang
(b) Birthplace of Mahavir

s oRd

(d) Pillar Edict II of Ashoka




86.

&7

8.

9.

91.

92.

Which one territory of the following was not a
part of Ashoka’s empire?
(a) Afghanistan

(c) Sri Lanka

Rajuka’s were W’
(a) Traders in the Chola Kingdom @.PX
(b) Officers in the Mauryan administration

(b) Bihar
(d) Kalinga

(c) Feudal Lords in the Gupta empire

(d) Soldiers in the Saka army

Who was the first to suggest the boycott of
British goods in Bengal?

(a) Aurobindo Ghosh

(b) Krishna Kumar Mitra

(c) Motilal Ghosh

(d) Satish Chandra Mukherjee

Which one of the following edicts mentions the
personal name of Ashoka?

(a) Kalsi (b) Rummindei

(¢) Special Kalinga Edicts

(d) Maski

In the Mauryan period, tax evasion was punished
with

(a) Death

(b) Confiscation of goods
(c) Imprisonment

(d) None of the above
Who did the Chairmanship of Lahore Session
(1940) of Muslim League?

(a) Liyaquat Ali Khan

(b) Chaudhary Khalig-uz-zaman

(c) Mohd. Ali Jinnah

(d) Fatimah Jinnah

The remark ‘Nehru is a patriot, While Jinnah is a
politician’ was made by

G oRd

93.

94.

95.

96.

97.

9R.

9.

100.

(a) M.K. Gandhi
(¢) Sir Mohammad Igbal
(d) Khan Abdul Gaffar Khan

Who among the following said about the Act of
1935 ‘a car which has a break but no engine’?

(a) Jawaharlal Nehru (b) C. Rajagopalachari
(c) Mahatma Gandhi (d) S.C. Bose

Montagu-Chelmsford Proposals were related to
(a) Social reforms (b) Educational reforms

¢) Reforms in police administrati 6 ?J
(o) p ministration @'PX

The Balkan plan for fragmentation of India was
the brain child of

(a) W. Churchill (b) M.A. Jinnah

(¢) Lord Mountbatten  (d) V.P. Menon
Sachchidananda Sinha was associated with

(a) Quit India Movement

(b) Dandi March

(¢) Civil Disobedience Movement

(d) None of the above

The title ‘Raja’ was conferred on Ram Mohan

(b) Maulana Azad

(d) Constitutional reforms

Roy was proficient?

(a) Jahandar Shah (b) Muhammad Shah
(c) Akbar 11 (d) Bahadur Shah Zafar
‘Servants of India Society’ was founded by

(a) Ishwar Chandra Vidyasagar

(b) Gopal Krishna Gokhale W
(c) Dadabhai Naoroji

(d) Lala Lajpat Rai

The famous I.N.A. trials place in the Red Fort,
Delhi in

(a) 1945 (b) 1946 (c) 1944 (d) 1947
The head office of ‘Azad Hind Fauj’ is situated at
(a) Tokyo (b) Rangoon (c) Berlin  (d) Delhi

R G
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WBCS MAINS EXAM. - 2023 MEGA PRACTICE SERIES
Mock Test-6 (Paper-III) — Answers

1. (b) 2. (a) 3. (a) 4. (b) 5. (c) 6. (b) 7. (c) 8. () 9.(d) | 10.(a)
1.(d) | 12.(d) 13.(c) | 14.(b) | 15.(b) 16.(c) | 17.(d) 18. (a) 19.) | 20.(c)
21.@) | 22.@) | 23.@) | 24.(6) | 25.(0) | 26.(b) | 27.¢0) | 28.(c) | 29.¢0) | 30.(a)
3L.0b) | 32G@ | 33.@ | 34@ | 35@ | 36.() | 37.@) | 38.() | 39.b) | 40.(b)
41.(c) | 42.(b) | 43.@) | 44 | 45.0) | 46.(b) | 47.(c) | 48.@) | 49.@) | 50.(b)
5. | 52.) | 53.(@ | 54.) | 55.(d) | S6.@) | S57.() | 38.(d) | 39.() | 60.(c)
6l.(c) | 62.(c) | 63.(c) | 64.(b) | 65(d) | 66.(b) | 67.b) | 68.(c) | 69.(6) | 70.(a)
7| 2@ | B | 4| 750 | 76.0) | 77.c) | 78.®) | 79.(d) | 80.(d)
81.(d) | 82.(b) | 83.(a) | 84.(c) | 85() | 86.(c) | 87.(b) | 88.(b) | 89.(d) | 90.(a)
91.(c) | 92.(c) | 93.@ | 94.(d) | 95() | 96.() | 97.(c) | 98.(b) | 99.(a) | 100.(b)
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10.

Recently, which country secured their second
consecutive Copa America championship by
(b) Peru

defeating Colombia?
U e
(d) Chile

(a) Argentina
(c) Venezuela

Who won the men’s single title at the 2024
Wimbledon Tennis Championships?

(a) Roger Federer (b) Novak Djokovic

(c) CarlosAlcaraz (d) Max Purcdll
Recently, Khadga Prasad Sharma Oli has become
Prime Minister of which country?

(d) Nepal (b) Bhutan

(c) Myanmar (d) Bangladesh
Recently, Paul Kagame has been elected for the
fourth time as president of which country?

(a) Rwanda (b) Kenya

(c) Nigeria (d) Uganda

Recently, the Serum Ingtitute of India and Oxford
University have launched a ‘high efficacy’ malaria
vaccine, R21/Matrix-M, inwhich country?

(a) Mdli (b) Ivory Coast

(c) Ghana (d) Nigeria

Recently, where was the Asia’s first health research-
related pre-clinical network facility inaugurated?
(a) Varanasi, Uttar Pradesh

(b) Faridabad, Haryana W‘y

(c) Jaipur, Rgjasthan r\’ﬁ

(d) Indore, Madhya Pradesh

‘Tankai method’, which was seen in the news, is
associated with which process?

(a) Afforestation (b) Ship building

(c) Map making (d) Painting

Byculla railway station, India’s oldest railway station,
isin which state/UT?

(a) Maharashtra (b) New Delhi

(c) West Bengal (d) Gujarat

Kuttippuram is an archaeological site located in
which state/lUT?

(a) Kerda (b) Gujarat
(c) Punjab (d) Rajasthan
Thiruvonam is a festival prevalently celebrated in
which state?

@Kerda  BIFO () Andhra Pradesh

(c) Tamil Nadu (d) Karnataka

Who is the author of the book “The Secret Diary of
Kasturba”?
(&) NedimaDamiaAdhar

14.

16.

17.

(b) Aruna Chakravarti
(c) Som Sharma W

(d) NarendraVerma

Who is the author of the book ‘Matoshree’?

(a) SumitraMahagjan (b) NarendraModi

(c) Venkaiah Naidu (d) Sushma Swargj
Recently, which country of East Africawas hit by
the tropical cyclone named ‘Gamane’?

(a) Madagascar (b) Tanzania

(c) Kenya (d) Mauritius

Mataberi Pera & Pachra, recently got a Gl tag,
belongs to which state?

(a) Tripura (b) Assam

(c) Mizoram (d) Nagaland
Antiretroviral Therapy (ART) initiative, recently
seen in news, is related to which disease?

(a) Dengue (b) HIV/AIDS

(¢) Tuberculosis (d) Mdaria

PRATUSH telescope, recently seen in news,
developed by which organization?

(8) DRDO

(b)ISRO s
() Ministry of Earth Sciences

(dCSR

Recently, archaeologists from Kerala University

unearthed a 5,200-year old Harappan settlement at

which place?

(a) PadtaBet, Gujarat (b) Bhirrana, Haryana

(c) Desalpur, Gujarat (d) Hisar, Haryana

Recently, Yoga Mahotsav has been organized at

which place?

() Indore, Madhya Pradesh

(b) Pune, Maharashtra

(c) Ayodhya, Uttar Pradesh

(d) Jaisalmer, Rgjasthan

‘Hoysala Temples’, which received UNESCO World

Heritage Tag, are located in which state?

(a) Tamil Nadu (b) Karnataka

(c) Odisha (d) West Bengal

Which state/UT organised India’s First Lighthouse
(b) Goa

Festival?

(8 Kerala ARt
(c) Maharashtra (d) Gujarat

Kati Bihuisafestival celebrated inwhich state/UT?
(@) Arunachal Pradesh  (b) Assam

(c)Kerda (d) Goa
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22.  Benson Hedges Cup is related to which of the | 35.  Which city is going to host the world’s largest
following sports? literary festival, Sahityotsav? W
(8) Hockey (b) Cricket W (a) New Delhi (b) Lucknow Mﬁ
(c) Football (d) Basket Ball (c) Chennai (d) Bengaluru

23, Where wasthe first Winter Olympics held? 36. Krystyna Pyszkova, who recently won Miss World
(a) Greece (b) France 2024 title, belongsto which country?
(c) Germany (d) England (a) Poland (b) Czech Republic

24. Indian Navy decommissioned INS Kirpan and (c) Jamaica (d) Mexico
handed over the corvette to which country? 37. Recently, who became the 14th president of
(8 Sri Lanka (b) Myanmar Pakistan?
(c) Vietham (d) Bangladesh (8 Amir Mugam (b) Musadik Malik

25.  “Yashaswini’ is a group of women bikers of which (c) Mahmood K han Achakzai
ingtitution? (d) Asif Ali Zardari
(a) Indian Navy (b) CRPF 3B.  Recently, where was the India’s first indoor athletics
(o CISF (d) IndiaArmy and aquatic centre inaugurated?

26. Which state government recently launched the (8) Bhubaneswar (b) Chennai
‘Mukhyamantri Majhi LadkiBahin’ scheme’? (c) New Delhi (d) Jaipur
(a) Maharashtra (b) Odisha 39.  Recently, which team won the 42nd Ranji Trophy
(c) Gujarat (d)Kerda title?

27.  Recently, wherewasthe Financia Action Task Force (8 Mumbai (b) Vidarbha
(FATF) meeting held? (c) Tamil Nadu (d) Madhya Pradesh
(a) China (b) France 40. Which day is celebrated as ‘International Day of
(c) Indonesia (d) Singapore Happiness’ every year?

28.  Which country is the host of ‘Zayed Talwar 2023’ (8) 18 March (b) 19 March
exercise? (c) 20March (d) 21 March
(@ Iran @[@ﬁﬁ (b) Israel 41. Recently, who was awarded the prestigious Devi
(c) UAE (d) Pakistan Shankar Awasthi Award 20237

29.  Which city isthe host of ‘Bharat Drone Shakti 2023°? (a) Achyutanand Mishra
(a) Pune (b) Ghaziabad (b) Ashutosh Bhardwaj W
(c) Mysuru (d) Hyderabad (c) Ram Shankar Awasthi

30. Recently, which country has launched a new (d) Nishant
currency ‘ZiG’? 42.  Yunhai-3 02, an environmental monitoring satellite,
(a) Rwanda (b) Zimbabwe recently launched by which country?
(c) Somdia (d) Botswana (8) Russia (b) China

3L Recently, which state government has taken steps (c) Japan (d) India
to denotify the boundaries of the Pulicat bird | 43. Whichbusinessconglomerateisleading the Dharavi
sanctuary? Redevel opment Project?
(a) Karnataka (b) Telangana (a) Reliance (b) Adani
(c) Tamil Nadu (d)Kerda (c) Godrg (d) Hiranandani

3. Indiramma Housing Scheme, recently seen in the | 44.  Which animal has recently been declared the
news, is associated with which state? national symbol of Kyrgyzstan?
(a) Karnataka (b) Tamil Nadu (a) Snow leopard (b) Yak W
(c) Kerda (d) Telangana (c) Eagle (d) Horse

33.  Recently, which state government has launched an | 45.  WhichthreeitemsfromArunachal Pradesh recently
initiative to support young entrepreneurs called received the Geographical Indication (Gl) tag?
‘MYUVASscheme’? (a) Adikekir, Wancho crafts, Changlang textiles
(a) Madhya Pradesh (b) Uttar Pradesh (b) Apatani rice, Adikekir, Tibetan carpets
(c) Bihar (d) Odisha (c) Adikekir, Tibetan carpets, Wancho wooden crafts

34.  Tamas Sulyok, who was seen in the news, became a (d) Khamti rice, Adikekir, Changlang textiles
new president of which country? 46. On the bank of which river, the West Bengal
(a) Poland (b) Hungary W Government plansto develop atea park?
(c) Italy (d) Estonia (a) Ganga (b) Hooghly

(c)Anjana (d) Kalindi
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Which state government has recently launched an
app-based electric bike taxi service called ‘Baayu’?
(8) Jharkhand (b) Assam

(c) West Bengal (d) Odisha W
Ganga Sagar Mela, India’s second-largest fair after
Kumbh Mela, is celebrated in which state of India?
(8 Mizoram (b) West Bengal

(c) Goa (d) Karnataka

What type of missile is New Generation AKASH
(AKASH-NG) Missile?

(a) SurfacetoAir (b) Surfaceto surface
(c)AirtoAir (d) Air to Surface
Which country is set to become the world’s largest
producer of lentil (masoor) during the 2023-24 crop

years?
@India  4gfseRd  (b) Myanmar
(c) Bhutan (d) Nepa

If a pendulum is allowed to oscillate into jar

containing water, itstime period will

(a) Increase (b) remain same

(c) becomesfourtimes  (d) None of the above

If the mass of the pendulum is doubled, the time

period-

(a) Becomesdouble (b) Becomeshalf

(c) Becomesfourtimes  (d) Remainssame

Sound waves are similar to the waves:

(& of laser light passing through air.

(b) generated in a stretched wire by hitting or
pluckingthewire.

(c) generated inapipefilled with air by moving the
piston attached to the pipe up and down.

(d) generated by the mobile phone towers.

The direction of flow of current through the

Conductor is taken

(a) inthedirection of flow of electron.

(b) inthe opposite direction of flow of electron.

(c) Both ‘a” and ‘b’

(d) Neither “a’ nor ‘b’

When the velocity of a body is doubled —

(@) It’s P.E is doubled

(b) It’s acceleration is doubled

(c) I's K.E is doubled

(d) It’s momentum is doubled

A spherical ball made of steel when dropped in a

bucket full of mercury (Hg) will:

(8 Sinktothebottom  (b) Will dissolve

(c) Float on the surface  (d) None

Which one of thefollowingis not aresult of surface

tension ?
Rt

(a) Nearly spherical drop of rain
(b) Capillary rise

(c) Removal of dirt by soap or detergent
(d) Flow of liquid

6L

A ball isdropped from aspacecraft revolving around

theearth. It will-

(@ Continue to move with the same speed along
the original orbit of the space craft

(b) move with the same speed tangentially to the

orbit.
© fall downtotheearth  BIFORA
(d) move away from the earth
When a particle executing S.H.M. passes through
the mean position, it has-
(& MinimumK_.E. and Maximum PE.
(b) MaximumK_E. and Minimum PE.
(c) MaximumK_E. and Maximum PE.
(d) MinimumK_.E. and Minimum PE.
Of the two bulbs in a house, one glows brighter
than the other. Which of the two will have alarger
resistance?
(8 Thedimbulb
(b) The brighter bulb
(c) Both have the same resistance
(d) The brightness does not depend on the
resistance
At dew point RH is- Ayfrors
(8 100% (b) 50%
(c) 30% (d) 0%
A transformer is based on the principle of
(a) mutual induction (b) self-induction
(c) DCcircuit (d) Both ‘a’ and ‘b’
A full length image of a distant tall building can
definitely be seen by using-
(a) aconcavemirror
(b) aconvex mirror
(c) aplane mirror
(d) Both concave aswell as plane mirror
You are given water, mustard oil, glycerine and
kerosene. In which of these media, a ray of light
incident obliquely at same angle would bend the
most?
(a) Kerosene (b) Water
(c) Mustard oil (d) Glycerine
A breeder reactor is that which —
(a) Doesnot require fissionable material at all.
(b) Uses only heavy water.
(c) Produces morefissionable materialsthanit burns
(d) None of the above
The reaction in which two compounds exchange
their ions to form two new compoundsis called
(@) displacement reaction
(b) combination reaction W
(c) double displacement reaction
(d) redox reaction




8 T - 53, B - 8 * TP, 038

67. Whichoneof thefollowingismost likely to exhibit | 80. Which of the following exhibits biomagnification?
Tyndall effect? _ (8 SO, (b) Mercury W
(a) Chalk powder and water mixture W (cDDT (d) Bothb& ¢
(b) Potash alumand water mixture 8l. Choose the incorrect statement.
(c) Sugar and water mixture (@ The Montreal protocol is associated with the
(d) Potassium permanganate and water mixture control of emission ofozone-depleting

68. Thelaw of Lavoisier and Laplaceillustrates- substances
(a) The principle of conservation (b) Methane and carbon dioxide are greenhouse
(b) Equivalence of mechanical and thermal energy gases
(c) The principle of conservation of matter (c) Dobson units are used to measure the oxygen
(d) Equivalence of mechanical and chemical energy content of air

69. Elementsinaperiod have same (d) Use of incinerators is crucial to disposal of
(a) Number of valence electrons hospital wastes Solution:
(b) Proton number 8.  Among the following, which one causes maximum
(c) Number of shell indoor chemical pollution?
(d) Volume (8) burning coal

70.  According to Newland’s law of octaves how many (b) burning cooking gas
elementsexist in nature ? (c) burning mosquito coil
(a)56 (b) 66 (055 (d)118 (d) room spray

71 Which of the following is a surface phenomenon? | 83. The green scum seen in the freshwater bodiesis:
(8) Bailing (b) Melting (a) blue-green algae (b) red algae
(c) Evaporation (d) Frezing (c) greendgae (d) both (a) and (c)

72.  Which one of the following contains maximum | 84. Theloudnessof asound that a person can withstand
percentage of carbon ? without discomfort is about
(a) Castiron orf (b) Stainless Steel (8 150dB (b)215dB W
(c) Wrought iron (d) High speed iron (c)30dB (d)8odB

73.  Soap is sodium or potassium salt of — 85. The major source of noise pollution worldwide is
(a) Stearicacid (b) Oleicacid due to:
(c) Palmiticacid (d)Al (a) office equipment (b) transport system

74.  Silver chlorideisstored in adark bottle: (c) sugar, textile and paper industries
(a) To avoid contact with air (d) oil refineriesand thermal power plants.
(b) To add colour of sunlight 86. Catalytic converters are fitted into automobiles to
(c) To avoid reaction with sunlight reduce the emission of harmful gases. Catalytic
(d) To react with oxygen converters change unburnt hydrocarbons into:

75.  Photoconductors of xerox machine- (a) carbon dioxide and water
(a) Black phosphorus (b) Mercury (b) carbon monoxide
(c) Telurium (d) Seenium (c) methane

76.  According to the Central Pollution Control Board, (d) carbon dioxide and methane
the diameter of particles that are responsible for | 87.  Which one of the following impuritiesis easiest to
causing great harm to human health is: remove from wastewater?
(8 2.5-micrometre (b) 5.0-micrometer (a) Bacteria (b) Colloids
(c) 10.0-micrometer (d) 7.5 micrometre (c) Dissolved solids (d) Suspended solids

77. The material generally used for soundproofing | 88. Which one of the following diseases is not caused
roomslikearecording studio or an auditoriumis: due to contamination of water?
(a) cotton (b) coir (8) Hepatitis-B (b) Jaundice W
(c) wood (d) Styrofoam (c) Cholera (d) Typhoid

78. Compressed Natural Gas(CNG) is. ; ﬁ’_\J@ sz 89. Nuisance growth of aquatic plants and bloom-
(@) propane (b) methane forming algaein natural watersare generally dueto
(c) ethane (d) butane high concentrations of:

79.  World’s most problematic aquatic weed is: (a) carbon (b) sulphur
(8 Azolla (b) Wolffia (c) calcium (d) phosphorus
(c) Eichhornia (d) Trapa
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Which metal inactivates a catalytic converter? 9%. Thepowder of recycled modified plasticiscalled
(8 Gold (b) Iron (a) Polythene (b) Polyblend

(c) Silvers (d) Lead W (c) Polyester (d) None of the above
The Government of India passed the Water Actin | 97. E-wastesarereferredto

(8) 1954 (b) 1964 (a) radioactive waste ARt

(01974 (d) 1984 (b) Nuclear waste

Presence of large amount of nutrientsin water cause (c) Can be both (a) and (b)

excessive growth of (d) Electronic waste

(a) Lotus (b) Fungal bloom 9. The greenhouse gases are

(c) Bacteria bloom (d) Algal bloom (a) Hydrogen and Oxygen

The world’s most problematic aquatic weed is also (b) Oxygen and nitrogen

caled (c) Helium and argon

(&) Terror of Delhi (b) Terror of Mumbai (d) Carbon dioxide and methane

(c) Terror of Bangalore  (d) Terror of Bengal ®0. The present average temperature of earth is
DDT can cause (@ 10°C (b)12°C

(a) eutrophication in agquatic plants W (c14°C (d)15°C W
(b) biomagnification in aguatic plants 100. TheAppiko movement took placein

(c) cultural eutrophication in aquatic plants (a) Himachal Pradesh (b) Jammu and Kashmir
(d) None of the Above (c) Orissa (d) Karnataka
Sanitary landfill were adopted as the substitute for

(a) Sewage

(b) Biomagnification

(c) Eutrophication

(d) Open-burning dumps
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Laffer curve represents the relationship between
(@) inflation and unempl oyment

(b) tax rate and tax revenue W
(c) utility and marginal utility

(d) price and quantity demanded

In which five year plan, India had to face two
successive wars?

(a) First fiveyear plan

(b) Second five year plan

(c) Thirdfiveyear plan

(d) Fourth five year plan

NABARD was set up under the recommendations
of

(a) B.Sivaraman Commission

(b) Hilton Young Commission

(c) Narshimham Commission

(d) None of the above

‘Planned Economy for India’ is written by

(8) Adam Smith (b) Alfred Marshall

(c) M. Visveswaraiyya (d) J.M. Keynes

RBI issue currency notes against which of the
following ?

(a) Gold frer
(b) Foreign security

(c) Government of India security

(d) All of the above

When did the prevention of the money laundering
act coming to forcein India?

(8) 1998 (b) 1999 (c)2001 (d) 2005
In which of the following tax system tax evasion is
possible?

(a) Direct tax (b) Indirect tax

(c) Both (a) and (b) (d) Neither (a) nor (b)

Which Industrial Policy is known as ‘Economic
Constitution of India’?

@1948  (b)1977 (91991  (d)1956
Poverty alleviation was put emphasis for the first
timein

(a) Fifthfiveyear plan s oRe

(b) Fourth five year plan
(c) Thirdfiveyear plan
(d) Eleventh five year plan

10.

14.

16.

17.

TheTaylor’s Rulein Monetary Policy specifiesthat

if inflation rises by 1 percentage point

(@ the nominal interest rate should be increased
by 1 percentage point.

(b) the nominal interest rate should be increased
by twice that rate.

(c) the nominal interest rate should be increased
by more than 1 percentage point.

(d) the nominal interest rate should be brought
down by 1 percentage point.

Themain aim of devaluationis

(a) to decrease export.

(b) toincrease export.

(c) to increase both export and import.

(d) None of the above.

The commercial banks are required to maintain a

certain percentage of daily deposits with the RBI

intheform of

(@ CRR (b)SLR

(cgOMO (d) Bank Rate

Therate at which RBI lends money to commercial

banks for meeting short run obligations is known

as

(a) Bank rate (b) Repo rate

(c) Reverse Repo Rate  (d) Cash Reserve Rate

Corporateprofittax is

(a) astate level tax W

(b) collected and used by the Union Govt.

(c) collected by state govt.

(d) collected by centre and used by State govt.

Operation Barga programmewas beneficial for

(a) Landlords (b) Agricultural labourer

(c) Share croppers (d) Intermediaries

Post 1991 reform measures gave emphasis on

(8) Import restriction

(b) Import substitution

(c) Import liberalization and export promotion

(d) Bothaand b

14 commercia bankswere nationalized inwhichfive

year plan?

(a) Firstfiveyear plan  (b) Second five year plan

(c) Thirdfiveyear plan (d) Fourth five year plan

e
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18. Whoisthe ‘Father of Green Revolution’? 30. Whichof thefollowing istruein Phillips Relation?
(a) Norman Borlaug (b) M.S. Swaminathan (@ There is a negative relationship between
(c) M. Visvesvaraiyya  (d) Karl Marx inflation and unemployment.
19. Stagflation refersto the situation of W (b) Thereispositiverelationship between inflation
(a) deflation and high unemployment and unemployment.
(b) Inflation and rising employment (c) Thereis positive relationship between tax rate
(c) Inflation and rising unempl oyment and tax revenue.
(d) stagnant employment and deflation (d) Thereis negative relationship between tax rate
20. Which of the following is the contractionary and tax revenue.
monetary policy? 3L SEBI was given statutory recognition in the year
(a) Increasein repo rate (b) decreasein bank rate (a) 1988 (b) 1992 (c)1999 (d) 2000
(c) decreaseinCRR  (d) decreasein SLR % Themainobjectiveof TRYSEM was  4Rifsoie
21.  Which of thefollowing is the correct expression? (a) to train rural youth for self-employment
(@) GNP=GDP-NFIA _ (b) to train urban youth for self-employment
(b) ((jBDP at f_actor cost = GDP at market price + (c) Both of the above
epreciation (d) None of the above
Eg)) mg: gs I;—dzpreu a_t;’_” ayfrers | 33  TheNarshimham Committee Recommendationsare
= + deprecizion related to
2. A currency with a value that fluctuates as a result (a) Service sector (b) Banking sector
of the country’s political or economic instability is (c) Agricultural sector  (d) Business sector
known as 34.  Thetypeof unemployment in which the withdrawal
Ea; ';a{;g currsnbcy gg; ﬁlofttr?u”encyb of thelabourer having Marginal Productivity O will
c) Bothaan either anor o
not affect production is known as:
23.  Which of the following is not the quantitative @ Disguiged unemployment
measures of credit control method of RBI? (b) Frictional unemployment Afrore
(a) Repo Rate (b) Bank Rate (c) Structural unemployment
(c) Margin Requirement (d) Cash Reserve Ratio
24 Which of thefollowingisnot the feature of perfect (d) Open unemployment
i 'C t(')t' ,e> offowingisnot theteature ot per 35, Nationa Agricultural Insurance Scheme replacing
competition: Comprehensive Crop Insurance Scheme was
(a) Large number of buyers and sellers introduced in th
(b) Only one seller g&%&f Ir(]bt) % (©1998  (d)1999
afFoT C
(c) Homogeneous product \yr\»ﬁ 36. Anadvalorem duty is atax on the basis of
(d) None of the above the unit of th dit
25.  Pradhan Mantri Awas Yojana was launched in (EI) the :g' Ot' ecortnmo 'y
@2000 (02014 (92020  (d)2015 (b) he advertisement expences
26. Whoisknownas The Grand Old Man of India? (c) the price of acommodity @ﬁ@ﬁf
(a) M.Visvesvarayya (d) None of the above
(b) Dadabhai Naoroji 37. The objective of Na.IionaI Rural Employment
(© Karl Marx GuaranteeAct, 2_005 Is. _ _
(d) Sukhomoy Chakraborty @ to prowde flnanglal assstancg and technical
27.  The second stage of Demographic Transition is advice for generation of productive employment
characterized by inrural areas. , -
(@ High birth rate and high death rate (b) to_|mpart technical skill and upgradetraditional
(b) Low birth rateand low death rate gy res kil of rural people _
(c) Low birth rate and high death rate (c) enhancetheliveli hoo_d and security of therural
(d) High birth rate and a substantial fall in death people by generating wage employment
rate through works that develop infrastructure base
28. InIndia poverty lineis set on the basis of of that area _ _
(a) Basic needs (b) Calorieintake (d) to generate employment in health, primary
(d) Both (a) and (b) (d) Neither () nor (b) educapon, drinking water, housing and rural
29.  Which of the following is not the method of roadsin rural aress,
3B.  When did the Foreign Exchange Regulation Act

measuring National |ncome?
(@) Income method (b) Expenditure method
(c) Value added method (d) Matrix method

(FERA) comeinto being?

@1973  (b)1899  (d)1989  (d)2000
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47.

The components of HDI are:

(a) Lifeexpectancy at birth

(b) Educational attainment

(c) Standard of living

(d) All of the above

Open Market Operation refersto

(a) purchase of govt. securitiesin the open market.

(b) Sale of govt. securitiesin the open market.

(c) Both (a) and (b)

(d) Neither (a) nor (b)

Thetheme of 12th fiveyear planis

() Faster and inclusive growth

(b) Faster and sustainable growth

(c) Inclusive and sustainable growth

(d) Faster, sustainable and more inclusive growth

The apex for regulating the rural banksis

(@ RBI (b) NABARD

() SIDBI (d) SEBI frer

Which of thefollowing isthe Nodal ministry for the

Beti Bachao Beti Padhao Scheme?

(a) Ministry of Woman and Child Development

(b) Ministry of HomeAffairs

(c) Ministry of Health and Family Welfare

(d) NITI Aayog

Income inequality of a country can be represented

by

(a) Phillipscurve (b) Lagrange curve

(c) Lorenz curve (d) Laffer curve

Which of thefollowingisknown asthe Palicy Think

Tank of India?

(&) NITI Aayog (b) RBI

(c) World Bank (d) Ministry of Finance

Ricardian Theory of Comparative Advantage

Doctrine states that a country should

(@ import the commodity in which it has
comparative advantage.

(b) export the commodity in which it has
comparative advantage.

(c) export the commodity in which it has
comparative disadvantage.

(d) None of the above

Which of the following approves India’s five year

plans?

(a) National Planning Commission

(b) NITI Aayog

(c) National Development Council

(d) Ministry of Finance

Which of thefollowing taxation maintainsthe Canon

of Equality?

(a) Progressivetaxation (b) Regressivetaxation

(c) Proportional taxation (d) None of the above

The measure of money M4 isdefined as

(@ M1+total fixed depositswith commercial banks

(b) M3+total term deposits with post office

ford
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(c) M2+total demand depositswith the commercial
banks

(d) M1+total demand depositswith the commercial
banks

Which five year plan is based on Rao-Manmohan

Model?

(a) Fifthfiveyear plan (b) Sixthfiveyear plan

(c) Seventh five year plan(d) Eighth five year plan

Who called the joint sitting of the Parliament?

(a) President
(b) Speaker
(c) Vice-President froRs

(d) Chief Justice of Supreme Court

In which Landmark case Fundamental Rightswere
considered as Inviolable part of the Indian
Constitution?

(a) Goloknath v. State of Punjab

(b) Kesavananda Bharati v. Union of India

(¢) S. R. Bommai v. Union of India

(d) Prem Singhv. State of Haryana

Thedirective of international peace and security is
mentioned under

(a)Article48 (b) Article 49
(c)Article50 (d) Article51

The number of reserved seat for SC & ST to the
Council of Statesis

(@18 (b) 12 o
(920 (d) No such provision.

How many High Courtsarethere at present in India?
@21 (b) 23 (925 (d)27

The purpose of the inclusion of DPSP in the
constitution of Indiaisto establish_

(a) Political party

(b) Socia democracy

(c) Gandhian democracy

(d) Social and economic democracy

The concept of Compl ete Justiceisenshrined under
(a)Article21 (b) Article 32
(c)Article142 (d) Article 143

Bindu Prasad Mandal Commissionisrelated to

(8) The National Commission for Scheduled Castes
(b) The National Scheduled Tribes. Commission
(c) TheBackward Class Commission

(d) The Anglo-Indian community

Which of the following is not a feature of the
Constitution of India? G
(a) Itisdemocratic (b) Itisrepublic

(c) Itisfederal (d) Itispresidential
Under Which of the following Article is mention
thevalidation of certain actsand regulationincluded
in the 9th Scheduled?
(a) Article 31A
(c)Article31C

(b)Article31B
(d)Article31D
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6L Which of thefollowing Indian Statesdoesnot have | 72. A major portion of the constitution of India is
aBicamerd Legidature? derived fromthe
(a) West Bengal (b) Bihar ayfsert (@U.K
(c) Chhattisgarh (d) Assam (b) USA
62.  Which Indian State hasthe largest number of seats (c) Government of IndiaAct 1935
reserved for the Scheduled Tribesinthe Lok Sabha? (d) Indian Independent Act 1947
(a) Madhya Pradesh  (b) Rajasthan 73. Who termed Indian constitution as ‘Quasi federal”
(c) Andhra Pradesh (d) Arunachal Pradesh (a) K. C. Wheare (b) M.V Paylee
63. Article 21. stands suspended during an emergency (c) D. D. Basu (d) Ivor Jennings.
under Article 74.  The Name of a case which overruled Goloknath vs
(8352 (b) 356 State of Punjab is
(c)260 (d) Cannot be suspended (a) Keshavansnda vs State of Kerdla  gpyfsgrss
64. Reﬁer\{atlons Or economlcallyweaka section under (b) Golok Nath"s vs U.O.I
€ Art|_ cle16(3) (b) Art! cle15(4) (c) Shankar | Prasad vs U.O|
(c)Artch916(4A) (d)Artche16(4B) . (d) Sajjan Singh. V's. State of Rajasthan.
65. Who has the right to decide that who will be . ) L
. . . 7. Among the following which type of Justice is Not
included in the list of Scheduled Caste and ided bv th o
Scheduled Tribes? yfos provi y the constitution?
: ' : o (a) Social Justice (b) Economic Justice
(8) Parliament (b) President i . .
(c) Political Justice (d) Moral Justice.
(c) Governor of the State(d) Supreme Court % Wh admit or establish States into Indi
66. Which of thefollowing Congtitutional Amendments ' U 10 c’?n mitor 151 hAW Stales Into Thdian
equipped President to impose National Emergency rion: .
. . . (8) The President
For internal disturbancereplaced by armed rebellion _ )
(a) 38th Amendment (b) 40th Amendment (b) The parl_|ament on the advice of half of States.
(c) 42ndAmendment  (d) 44thAmendment () The parliament ARt
67. Which of the following case is known as the (d) Noneof the above. _
“Fundamental Right” case? 77.  Which one of the following Statements is correct?
(a) Goloknath v. State of Punjab (@ No citizen of Indiashall accept atitle from any
(b) IndiraGandhi v. Rgj Narain foreign State and no title may be conferred by
(c) Kesavananda Bharati v. State of Kerala the state.
(d) D. K. Basu v. State of West Bengal (b) Indi.a.may confer atitleon aponciti z_en.
68. A proposal to prefer the charge of impeachment of (c) A citizen may accept the title of sir or Lord
the President of India has to be moved after prior conferred by the Queen
notice of (d) A foreigner inthe service officelndiamay accept
(a) 7 days (b) 14 days W atitlefromaforeign state.
(c) 21 days (d) 30 days 78. I any new territory becomes a part of India, who
69. Who can enact a law on abolition of shall notify the persons of that territory to be citizen
Untouchability? of India?
(@) TheParliament of IndiavideArticle 17 (a) President (b) Government of State
(b) The Parliament of IndiavideArticle 35((a)(ii) (c) Government of India (d) None of the above.
(c) State LegidaturesvideArticle 17 and 21 79.  Which of thefollowing is not awrit issued only by
(d) All of the above a Superior Court to aninferior court? W
70. Reasonable restriction to right to assemble (&) Prohibition (b) Mandamus
peacefully is placed under (c) Certiorari (d) None.
(a)Article 19(2) (b)Article19(3) 80. Righttolifeunder article 21 of the constitution does
(c)Article 19(4) (d)Article19(5) not include ‘right to die has been held by Supreme
71 Thedoctrine of basic structure was propounded in Courtin:

(a) Golok Nath’s case

(b) A. K. Gopalan’s caseh

(c) Keshavansnda Bharati’s case
(d) In Re Berubari Union case

ford

(a) P Rathinam vsunion of India

(b) Gian kaurvs State of Punjab

(c) State of Maharashtrav Maruti Sripati Dubal.
(d) All of the above
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In which one of the following cases the Supreme

Court has declared under article 15 /5 as

constitutional ? W

(@) India sawney versus union of India.

(b) Ashok Kumar Thakur vs union of India.

(c) State of Maharashtravs champakamderairajan.

(d) T.M.A pai foundation vs state of Karnataka.

Who can dissolve the Rajya Sabha?

(@) Chairman of the Rajya Sabha

(b) PrimeMinister

(c) It cannot be dissolved

(d) President of India

Prorogation means

(@ It means termination of a session of
parliamentary.

(b) It terminates a sitting

(c) Calling meeting of Lok Sabha

(d) None of the above.

Money bill can beinitiated in the W@
(a) Lok Sabhaonly Pﬁ
(b) Rajya Sabhaonly

(c) Both Lok Sabha and Rajya Sabha

(d) None of the above.

Which amendment act inserted article to 279 A.
(a) Art 101st (b) 92nd.  (c) 69th (d) 102nd.
Which one of the following Commission was
replaced by NITI Aayog.

(a) Planning Commission

(b) National development council

(c) Finance Commission

(d) None of the above.

By which amendment act santali wasadded as 15th
recognised language in Indian constitution?

(a) 7th constitutional amendment act.

(b) 21st constitutional amendment act.

(c) 36th constitutional amendment act.

(d) 92nd constitutional amendment act.
Theofficial language act was enacted by parliament

in the year-

(@193 (b)1976  (c)1987  (d)2005
Theterm of the CAG of India ayfsoRs
(a) 65yrs

(b) 62 yrs.

(c) 6 yrstermor 65 yrs age’ which is earlier.

(d) None of the above

Who is equivaent of attorney general in state

(a) Chief minister (b) Judge of the High Court
(c) Advocate Genera (d) None of the above.

No criminal or civil proceedings can be initiated
against:

(@) The president during his term of officer.

(b) The governor during histerm of office

9r.

100.

(c) Both (&) and (b)

(d) Neither (a) nor (b)

The salary of the governor is charged on

(a) Consolidated fund of India

(b) The contingency fund of the State

(c) The consolidated fund of state

(d) The consolidated fund of Indiaand consolidated

fund of state on 50-50 basis.

How many recognised languages are mentioned in

the constitution? s er

@ 22 (b) 18 (014 (d)15

In case of sovereign of India which one of the

followingiscorrection?

(@ Indiais not dependent on any country

(b) Indiais not a colony of any other country.

(¢) India can give any part of its country to any
other country.

(d) Indiaisabliged to obey the United nationiniits
internal affairs.

The constituent assembly formed the drafting

committee of Indian constitution on

(a) 29thAugust 1947.  (b) 30thAugust 1948

(c) 29thAugust 1949.  (d) 29th August 1950.

Then the chief minister of a state did not cast his/

her vote at the election of the president?

(@ He/sheisamember of upper house of the state

legidlature

(b) He/sheisamember of lower House of the state
legislature. ARt

(c) He /she is a member of lower House of the
parliament

(d) He/she is a member of upper House of the
parliament.

State emergency was first imposed in the state of-

(a) Punjab (b) Manipur

(c) Tripura (d) Jammu and Kashmir.

Three- tier panchayat Election of West Bengal was

first held in—

(81978 (0)1959 (01977 (d) 1956.

By which amendment act, the voting age was

reduced from21to 18

(a) 61st Constitutional amendment act.

(b) 79th constitutional amendment act.

(c) 91st constitutional amendment act

(d) 44th constitutional amendment act

Sarkaria Commission was related to—

(@ Centre state relation W

(b) Development of schedule cast and schedule
tribe people

(©) Investigating the Godhra incident

(d) None of the above.

—_— kA —
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WBCS MAINS EXAM. - 2023 MEGA PRACTICE SERIES
Mock Test-6 (Paper-V) Answers

1. | 2@ | 3@ | 4@© | 5 | 6.() | 7.(@d | 8@ | 9 (@ |10.(c)
1.() | 12.(8 | 13.00) | 14®) | 150 | 160 | 17.(d) | 18(®) | 190 | 20.(8d
21.(0) | 22(0) | 2300 | 240) | 25 | 26.(0) | 27.(d) | 28.(b) | 29.(d) | 30.(a)
3.(b) | 32(@ | 38.() | 34@ | 35(d) | 360 | 37.© | 38@ | 39.(d) | 40.0
41.(d) | 42.(0) | 43.(8 | 440 | 45.(9 | 46.(0) | 47.(0 | 48.(8) | 49.(b) | 50.(d)
51.(b) | 52.(8) | 53.(d) | 54.(d) | 55.() | 56.(d) | 57.(c) | 58.(c) | 59.(d) | 60.(b)
6L(b) | 62(8) | 63.(d) | 64(b) | 65() | 66.(d) | 67.(c) | 68.() | 69.(8d | 70.(h)
7.0 | 720 | 3@ | 4@ | @ | 6@ | 7.0 | 78@ | 79.(3 | 80.()
8L(b) | 82() | 8@ | 84(d | 8.(8d | 86.(d | 87.(d) | 8. | 8.0 | 9.0
9L.(d | 92.(b) | 9. | %@ | %@ | %@ | 9. | %@ | 9.(a | 100.(@)
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WBCS MAINS EXAM. - 2023 MEGA PRACTICE SERIES
Mock Test-6 (Paper-VI)

In a code language, ‘PRINCESS’ is written as—
‘ECINRPOTU’. How will ‘SPICEJET’ be written
in the same language?

(a) JEICPSFV (b) JECIGPSGU

(c) EJICSPGV (d) JEICPSGV
X % y means x is the daughter of y
X @ y means X is the wife of y

x $ y means x is the brother of y

ferd

Based on the above information, which of the
following expression indicates that K is the father
in law of H.

@H@PSIT&L %K
GMH@ISL%P&K
©OH@ISL%K&P

H@ISP&L %K afsore

Which of the following correctly represent the
relationship between them?

g »O OO
0O @ @ @g@w

Select the option which has the same relation with
the fifth number as the fourth number has with
the third number and the second number has with
the first number.

x & y means x is the father of y

2:19::6:57::44:7 W
(a) 212 (b) 177
(c) 399 (d) 418

5.

10.

I1.

12.

(12, 51, 5) (5, 36, 7)
(a) 14, 120, 16 (b) 13, 10, 7

(©) 11, 51, 6 @ 19, 44, 3 DR

In a class 33 students, Mohan’s Rank 12th from
the top, but his twin brother Mohit is 4th rank
above from him. What is Mohit’s rank?

(a) 21 (b) 29

(c) 25 (d) 26

If the mirror image shows the time as 11:40 in the
clock, then the actual time in the clock is

(a) 12 : 20 (b) 11 : 40
(¢) 11 : 20 (d) 12 : 40 W
In a certain code language ‘MOBILITY’ is coded
as— ‘46293927°, how is ‘EXAMINATION’ coded
in that language?
(a) 67250620076
(c) 57159913955
Find the next term.

(b) 56149512965
(d) 4503801854

(a) KSU (b) LMN
(c) SOV (d) SOW
Vigilant : Alret : : Viable : ?

(a) Active (b) Hopeless

(c) Feasible (d) Useful
Infared to Heat as ultraviolet is to
(a) Cancer (b) Blisters

() Mutation (d) Ozone fSERE

Select the pair that has the same relationship as
original words. Sip : Gulp

(a) Touch : Push (b) Cup : Class
(c) Tent : Hut (d) Soup : Water



13.

14.

15.

16.

17.

18.

A family consists of six members, namely A, B,
C, D, E and F.

B is the sister-in-law of C’s mother.

C is the sister of F.

A is the father of D and F is the grandson of A
There are three male members in the family.
Who is the mother of F? W
(a) D (b) E (c) B

(d) can not be determined

Find the wrong number in the following series

16, 14, 24, 66, 250, 1270

(a) 250  (b) 66 (c) 16 (d) 1270

In the given Venn-diagram, the triangle represent
female graduates, small circle represents self-
employed females and big circles represents self
employed females with bank loan facility. Which
number represents non-graduate self-employed
females with bank loan facility?

Small

Big

(a) 2 ) 9 (c) 6 (d) 1

How many times will the hands of a clock cross
each other in a day?

(a) 24 (b) 23 (c) 22 (d) 25
Which of the following elements will be the 17th
to the right of the tenth element from your right
in the sequence?

(@ R (b) + © 9 (d) 2
Ulna : Forearm : : Tibia : ? W
(a) Leg (b) Hip

(c) Hand (d) Thigh

19.

20.

21.

22.

23.

24.

25.

If the 5th day of a particular month is wednesday
then what will be the 23rd day?

(a) Saturday (b) Sunday W
(c) Monday (d) Tuesday

Direction: Study the following sequence of letters,
digits and symbols carefully.
8FWSYS6G?71EN#P3@JB A 4MR92 — K

If the first 17th elements are written in reverse
order followed by the next 11 elements, which
element would be the 5th to the right of E?

(@) 5 (b) 6 (c) G (d) ?

If the letters of the word RAMAKRISHNA are
rearrange according to English alphabetical order,
how many letters will remain in the same position
after the rearrangement? W
(@) 0 (b) 1 (c) 2 (d) 3
Direction: In each of the following questions,
there is a certain relationship between two given
words on one side of : : and one word is given on

the other side of : : , while another word is to be
selected from the given alternatives.

Qwartz : Radio : : Gypsum : ?

(a) Glass (b) Porcelain

(c) Cement (d) Powder

Jeopardy : Peril : : Jealousy : ?
(a) Envy (b) Insecurity

(c) Lust @ sin  ‘WFeR

A B C D and E are sitting in a row. B is between
A and E. To find out who among them is in the
middle, which of following statements P and Q is/
are sufficient?

P. A is to the left of B and right of D

Q. C is at the right end.

(a) Q but not P (b) P but not Q

(c) Both P and Q (d) Neither P nor Q

In each of the following questions, choose the set
of numbers from four alternative, that is similar to

the given set. W

Given set (21, 51, 15)
(b) (21, 35, 41)

(a) (21, 30, 51)
() (21, 51, 42) ) (21, 91, 35)



26.

27.

28.

29.

30.

31.

32.

33.

Choose the number from the given alternatives.
which is different from others.

(a) 7 (b) 15
(c) 31 (d) 57
EGIK is related to WUSQ in the same way as

DFHIJ is related to @EE fF\J\'f]“f

(a) BDFH (b) ECGF

(c) SQQM (d) XVTR

Following the matter, Find the missing number.
7 13 11 8

3 9 6 6

8 2 4 1

36 46 40 ?

(a) 20 (b) 22

(c) 24 d)28  Gfrers

A block of Cheese 5cm by 6¢cm by 8cm is covered
with Wax. If the Cheese is cut into lcm cubes,
then number of cubes not having Wax on them is.
(a) 72 (b) 240

(c) 210 (d) 120

Find the angle between the two hands of a clock
at 2 : 30 p.m.

(a) 100 (b) 105

(c) 210 (d) 70

Find the missing number. W

15 2 9 7 13 16
80 65 ?

5 6 4 6 11 8

(a) 35 (b) 48 (c) 72 (d) 120

Three words are given, which have something in
common among themselves out of the four given
alternatives, choose the most appropriate description
about these three words.

Comets, Stars, Satellites

(a) They are shining masses

(b) They given out light W

(c) They are rotating from the left to right

(d) They are heavenly bodies

Choose the group which is different from other.
(a) 71, 3, 7, 17 (b) 67, 71, 3, 5

(c) 41, 5, 3, 47 (d) 37, 14, 19, 7

34.

35.

36.

Find the missing number:

2 [3
6
71819
271382 @,@ﬁﬁ
(@) 49  (b) 50 (c) 51 (d) 52

Direction: In each question below two problems
figure are given. These are followed by four
answer figures indicate by (A), (B), (C) and (D).
The two problem figures have some common
characteristic features. You have to find out one
of the answer figure which has the same
commonality. The number of that answer figure

is the required answer. W

+ + +
Problem Figures : n
Answer Figures :
+ + + +
@ [+ + (b)
+ + +
© | + @ [+ | e

Direction: Study the following information
carefully and answer the questions given below.
An algorithm rearranges a sequence of numbers
following a specific rule in each step. Following is
an illustration of input and the subsequent steps of
rearrangement.

Input : 98 31 06 72 63 59 36 12 84

Step 1 : 98 31 36 72 63 59 06 12 84

Step 2 : 84 31 36 72 63 59 06 12 98

Step 3 : 84 31 36 63 72 59 06 12 98

Step 4 : 84 31 12 63 72 59 06 36 98

Input : 59 36 12 98 84 31 06 72 63

The sum of the numbers in position 3 and position
7 corresponding to Step 4 is W

(a) 18 (b) 42

(c) 84 (d) 108



37.

38.

39.

40.

41.

In a certain code language

‘A+B’ means ‘A is the brother of B

‘A-B’ means ‘A’ is the mother of B

‘AxB’ means ‘A’ is the wife of B

‘A+B’ means ‘A’ is the father of B W
How is B related to L if ‘BxG+T+K-L’?

(a) Father’s Father (b) Sister’s Sister

(c) Mother’s Mother  (d) Brother’s Daughter
‘R+S’ means ‘R is the daughter of S°, ‘R—S’ means
‘R is the husband of S’, ‘RxS’ means ‘R is the
brother of S°. If ‘X x Y + Z’ then which of the
following option is true?

(a) X is the uncle of Z

(b) Y is the daughter of Z

(c) X is the son of Z

(d) Z is the brother of Y et
Ravi is a son of Rahul’s father’s sister. Joy is the
son of Divya who is the mother of Goutam and
grandmother of Rahul. Nitin is the father of Tanya
and grandfather of Ravi. Divya is the wife of
Nitin.

How Ravi related to Divya?

(a) Nephew (b) Son

(c) Grandson (d) Data inadequate
Eight persons P, Q, R, S, T, U, V and W are
sitting around a circular table facing the centre
(not necessarily in the same order). Two persons
sit between Q and W. V sits immediate left of W.
Three persons sit between S and T. R sits
immediate left of T. U is not the neighbour of P.
One person sits between P and Q.

Which of the following statement is correct?

(a) Q sits to the immediate right of U. 4pyfseR{
(b) One person sits between P and R.

(c) Three persons sit between Q and R.

(d) One persons sits between S and U.

J, K, L, M, N and O are sitting in a straight line,
all are facing the North. K is fourth to the left of
J. N is sitting at one corner. L is fourth to the left
of N. O is third to the right of K. Who is sitting
at the second place to the left of Zaid?

(a) N (b)y M (c) L (d) J

42.

43.

44.

45.

46.

47.

48.

49.

Suppose the day of after tomorrow is not Saturday.
Which of the following day can not be the day

before Yesterday?
@ }“E\'J
(b) Monday Fﬁ

(c) Tuesday (d) Wednesday
All fish can Swim. No fish can walk.
So nothing that can walk, swims.

(a) Sunday

(a) Inference is true

(b) Inference is false

(c) Inference is probably true

(d) Inference is probably false

Two bikes Y and Z start from the same point, car
Y runs 1lkm south, then turns to the left and
runs 19km. Z runs 11km west and then turns to
his right and runs 5 km. Find the shortest distance
between the final position of both the bike?

(a) 34 km (b) 37 km W
(¢) 17 km (d) 68 km

M and N starts from the same point and walk 12
km in the opposite direction to each other. M turn
right and walks 5 km. N turn right and walked
5 km. How far are they from each other?

(a) 25 km (b) 26 km

(c) 27 km (d) 28 km

If A x B means A is to be south of B, A+B means
A is to the north of B; A%B means A is to the east
of B, A — B means A is to the west of B, then
P%Q+R-S, S is in which direction with respect
to Q? ot
(a) South-West (b) South-East

(c) North-West (d) North-East

If P is 10m to the South-East of point O then Q
is in which direction with respect to point P and
what is shortest distance between point P and Q?
(a) South-12m (b) South-East - 27m
(c) West-8m (d) North-West - 27m
In a certain code ‘415’ means ‘milk is hot; ‘18’
means ‘hot soup’ and ‘895’ means ‘soup is tasty’.
What number will indicate the word ‘tasty’?

(a) 8 () 5

© 9 (d) None of these

If N = 16, FAN = 27, then FRANCE = ?

(a) 56 (b) 57 (c) 58 (d) 59



50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

In the following diagram rectangle represents men,
Triangle represents educated, circle represent urban
and square represents government employee.

Which one of the following represents the

educated men but not urban? W

e

10°\ 7
6 13
12
9
14
11
/N
(@ 9 (b) 5 (c) 4 (d) 11
The sum 5 + 6 + 7 + 8 + ........... +19 =2
(a) 150 (b) 170 (c) 180 (d) 190

If the ratio of three numbers is 3 : 4 : 5 and their
LCM is 1200, then the smaller number is.

(a) 60 (b) 80 (c) 100 (d) 120
What number should come next in the sequence

6, 11, 21, 36, 56, ? ayfroRs

(a) 78 (b) 81 (c) 82 (d) 86

The area of a square field is 6050 m2. The length
of its diagonal is

(a) 110m (b) 112m (c) 120m (d) 135m
The greatest possible length which can be used to
measure exactly the length 7 m, 3 m 85 cm, 12m
95 cm is.

(a) 15 cm (b) 25 cm

() 35 cm d 42 em  BfFERE
If the sides of a triangle are in the ratio 3 : 4 : 5,
then the largest angle is -

(a) 50° (b) 75° (c) 90° (d) 120°
Ifa:b=23:4,then (7a + 3b) : (7a — 3b) = ?
(a) 4 : 3 (b)5:2

(¢) 11 :3 (d) 37 : 19

What number should come next in the sequence?

4, 5, 7, 10, 11, 13, 16, ? @T@—ﬁ

(a) 17 (b) 18 (c) 19 (d) 21

Look carefully for the pattern and then choose
which pair of numbers comes next.

912 11 14 13 16 15

(a) 14 13 (b) 18 21 (c) 18 17 (d) 17 18

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

The sum of all exterior angles of a convex
polynomial of n sides is :
(a) 4 right angle

(b) 2 right angle

(c) 2(n — 2) right angle W
(d) 2n right angle

Two trains running in opposite direction cross a
man standing on the platform in 27 sec. and 17
sec. respectively and they cross each other in
23 sec. The ratio of their speeds is

@@ 1:3 (b) 3 :2

()3 :4 (d2:3

If m:%; then find the value of
m? — 2mcosec @ +1 W
@-1 ®M4 ©3 @O0

A fisherman can row 2 km against the stream in
20 minutes and return in 15 minutes. The speed
of the boat in still water is

(a) 7 km/hr (b) 2 km/hr

(¢) 3 km/hr (d) 112112 km/hr

Gold is 19 times as heavy as water and copper is
9 times as heavy as water. The ratio in which
these two metals be mixed so that the mixture is
15 times as heavy as water, is — W
(@1l1:2 (b)2:3 @Wf
(¢)3:2 (d) 19 : 135

How many digits are required for numbering the
pages of a book having 300 pages ?

(a) 299  (b) 492 (c) 789 (d) 792
Mean proportional to 0.32 and 0.02 is
(a) 0.8 (b) 0.08 (c) 0.008 (d) 0.4

The least number which when diminished by 5, is
divisible by each one of 21, 28, 36, 45 is

(a) 425 (b) 1259

(c) 1260 (d) 1265 W
What comes next in the sequence 2, 5, 10, 17,
26, ?

(a) 33 (b) 35 (c) 36 (d) 37

The area of a circle is 24.64 m?. The circumference
of the circle is
(a) 14.64 m
(c) 17.60 m

(b) 16.36 m
(d) 18.40 m



70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

A pump can fill a tank with water in 2 hours.

Because of a leak in the tank, it takes 2% hours

to fill the tank. The leak can empty the filled tank

" ferd

(a) 2% hours (b) 7 hours

(c) 8 hours (d) 10 hours

What decimal fraction is 40 ml of a litre ?

(a) 0.4 (b) 0.04

(c) 0.004 (d) 0.0004

What number should come next in the sequence
6, 18, 72, 360, 2160,  ?

(a) 12120 (b) 13120

(c) 14120 (d) 15120

What comes next in the sequence 1, 3, 7, 15,
31, 63, ?

(a) 127 (b) 125

(c) 121 (d) 129

If 20% of (P + Q) = 50% of (P — Q), then
P:Qis

(a)5:7 b)7:5 W
(c)7:3 (d7:8

Find the odd one out.

(a) 27 (b) 64 (c) 81 (d) 125

The least number of square tiles required to pave
the ceiling of a room 15m 17cm long and 9m
2cm broad is.

(a) 656 (b) 738

(c) 814 (d) 902

Look carefully for the pattern and then choose
which pair of numbers comes next.
1, 10, 7, 20, 13, 30, 19,

(a) 25, 40 (b) 40, 25

(c) 25, 31 (d) 40, 50

What comes next in the sequence 2, 6, 18,
54, 2

(a) 108 (b) 148 (c) 162 (d) 216

40 men take 8 days to earn X 2,000. How many
men will earn I 200 in 2 days ?

(a) 10 (b) 12 (c) 16 (d 1
If 2A =3B =4C, then A: B : C is
(a)2:3:4 b)y4:3:2
(c)6:4:3 (d3:4:5

ferd

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

The average weight of X, y, z is 45 kg. If the
average weight of x and y be 40 kg and that of
y and z be 43 kg, then the weight of y is

(a) 20 kg (b) 26 kg EFORA
(c) 31 kg (d) 17 kg

If the side of a square is increased by 30%, then
its area is increased by

(a) 9% (b) 60% (c) 30% (d) 69%
The mean of 19 observations is 4. If one more
observation of 24 is added to the data, the new
mean will be

(a) 5 (b) 6 (c) 4 (d) 7

A mixture of 40 litres of milk and water contains
10% water. How much water should be added to
this mixture so that the new mixture contains
20% water ? W
(a) 6.5 litres (b) 4 litres

(c) 5 litres (d) 7.5 litres

The average of three numbers is 28. The first
number is half of the second and the third number
is twice the second. The third number is

(a) 48 (b) 18 (c) 24 (d) 36

The difference between the squares of two
consecutive even integers are always divisible by

(a) 3 (b) 7 (c) 6 (d) 4

If @ is a Prime Number, then the L.C.M. of a and
(a+1)is

(@) a@a + 1) (b) a2 ifro
(c) (a + 1y (d) a(a+1)2

The least number which when divided by 15,
27,35 and 42 leaves in each case a remainder 7,
is

(a) 1883 (b) 1987 (c) 1897 (d) 2007
If three-fifths of 60% of a number is 36, the
number is

(a) 90 (b) 80 (c) 100 (d) 75
{(25)» — 25} is exactly divisible by

(a) 25  (b) 24 () 50  (d) 26
8028 x 40.08 = 9 Y
(a) 2 (b) 8036 (c) 4% (d 1

A sum of ¥ 312 was divided among 60 boys and
some girls in such a way that each boy gets
¥ 3.60 and each girl ¥ 2.40. The number of girls
is

(a) 65 (b) 60

(c) 35 (d) 40



93.

94.

95.

96.

A boy was asked to multiply a number by 12. By
mistake he multiplied the number by 21 and got
his answer 63 more than the correct answer. The

answer was W

(a) 8 (b) 7 ) 12 (d)9

The H.C.F. of two numbers is 12 and their
difference is also 12. The numbers are

(a) 66, 76 (b) 70, 82

(c) 94, 108 (d) 84, 96

How many digits are required for numbering the
pages of a book having 300 pages ? W
(a) 299  (b) 492 (c) 789 (d) 792

Price of 5 chairs and 2 tables is I 1,350. Two
chairs cost as much as one table. What is the
price of one chair and one table ?

(a) T 350 (b) T 450
(c) X 500 (d) T 550

97.

98.

99.

100.

froRd

A student was asked to divide a number by 3.
But, instead of dividing it, he multiplied it by 3
and got 29.7. What was the correct answer ?

(@93 ()33 ()98  (d)99

In an examination, a student was asked to
find 314314 of a number. By mistake, he
found 3434 of it. His answer was 150 more than
the correct answer. The given number is

(a) 180  (b) 240  (c) 280  (d) 290

If 75% of the students in a school are boys and
the number of girls is 420, the number of boys

s @R
(@) 1176 (b) 1350 (c) 115  (d) 1260

The least number of 4 digits, which is a perfect
square is

(a) 1000 (b) 1016 (c) 1024  (d) 1089

frord
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